FORrR MAXIMUM EFFECTIVENESS

AND SAFETY, PLEASE READ THIS
OWNER’S MANUAL BEFORE USING YOUR
EbcEe 284 MAGNETIC Recumbent Bike



TABLE OF CONTENTS

IMmportant Safety INSTTUCTIONS ..., 2
Unit WArning LUBEL........cooiiiiiiiii 3
SPECITICUTIONS & PUIMS L.iiviiiiiiiiiiii 3
INTTOAUCTION oo 4
ASSEMDBDIY INSTTUCTIONS. i, 5-8
Getting Started ... 9
Using Your Recumbent BiKe ..o Q
Using the Pulse Function on the Hundlebur ................ooocvvvnnn, %
Operdating the COMPUTET ..., 10-12
EXercise GUIAEINES .........cccoiiiiiiiiii e 13
KNOWING The BUSICS...vviiiiiiiiiiiiiii e 13
A Complete Exercise Progrdm............cccciiinn, 13-14
Aerobic Exercise: How Much? How Often? ......ccccccvvviiin, 14
When tO EXErCISe ... 14
Medsuring Your Hedrt RUTE ........ccoccviiiiiiiiiiii 14-15
CIOTNING 1ot 15
Tips TO Keep YOU GOINY........ccvviiiiiiiii e 15
Heurt Rute Target Zone Churt.....ooii 16
Warm Up & Cool Down STretChes ..., 17-18
Cuare & Storauge of your Recumbent BiKe .....coovvvviiiiiiiiiiin, 19
Workout Progress CRUITS ... 20
Exercise DUTU CRUIMS ... 21
RePIUCEMENT KiTS ..\ttt 22
REPIUCEMENT PUIMS ..uuiiiiiiiiii 23
SFitnessQuest

©2005 Fitness Quest Inc. All rights reserved.
Edge® and Fitness Quest® are registered trademarks of Fitness Quest Inc. Made in Thailand.

No part of this booklet may be reproduced or utilized in any form, by any means, electronic,
mechanical or otherwise, without the express written consent of the copyright holder.

8/12/05



IMPORTANT SAFETY INSTRUCTIONS

Read all instructions before using this machine

CAUTION:

Exercise of a strenuous nature, as is customarily done on this equipment,
should not be undertaken without first consulting a physician.
No specific health claims are made or implied as they
relate to the equipment.

1) Before starting this or any other exercise
program, consult your physician, who cun ussist
you in determining the target heart rate zone
uppropriute for your uge und physicul condition.
Certdin exercise proygrams or types of equipment
may nhot be uppropriate for dll people. This is
especidlly importunt for people over the uye of
35, preynunt women, or those with pre-existing
hedlth problems or bulunce impuirments.

2) Monitor your heurt rate while you exercise and
keep your estimuted pulse rate within your
target heart rate zone. Follow the instructions
onh puyes 13 - 16 in this munuudl regyurding heart
rate monitoring und how to determine your
uppropriute target heurt rute zone. When used
properly, the heart rute pulse sensors und display
monitor provide u reusonubly uccurute estimaute
of your uctudl heuart rate, This estimate is not
exuct und persons with medicul conditions
und/or u specific need for uccurute heart rute
monitoring should hot rely on the estimutions
fprovided.

3) Warm up before any exercise program by
doiny 5 - 10 minutes of uerobic uctivity, followed
by stretching. Refer to the series of stretches found
onh puyes 17 und 18.

4) Weur comfortuble clothes that dllow freedom of
movement and that are not tight or restricting.

5) Weur comfortuble shoes mude of good support
with hon-slip soles.

6) Breathe naturdlly, never holding your bredth
during un exercise.

7) Avoid over training. You should be dble to carry
oh u conversation while exercising.

8) After un exercise session, cool down with slow
wulking und stretching. Refer to the series of
stretches found on puyes 17 and 18.

9) This muchine should not be used by or near
children.

10) Handicupped or disubled people must have
medicul upprovul before using this machine und
should be under close supervision when using
uny exercise eqyuipment,

11) If you are tauking medicution which may
uffect your heart rate, u physiciun's udvice
is ubsolutely essentiul.

12) Use this muchine only for its infended use ds
described in this munuul. Do not use uttuchments
not recommended by the munufaucturer,

13) Only one person ut u time should use this
mauchine.

14) Do not put hands, feet, or any foreign objects on
or heur this muchine when in use by others.

15) Alwuays use this machine on d level surfuce.

16) Never operate the machine if the machine is ot
functioning properly.

17) Start exercise slowly and gradudlly increuse the
umount of resistunce.

18) If the user experiences dizziness, haused, chest
puin, or uny other ubnormal symptoms, stop
exercise ut once und consult u physician
immediutely.

19) Use caution hot to pinch fingers or hands in
moviny purts when using the unit,

KEEP THESE INSTRUCTIONS



UNIT WARNING LABEL

Important: See below for placement of the following warning label on your unit.
WARNING LABEL

A WARNING

FAILURE TO READ AND FOLLOW THE SAFETY INSTRUCTIONS STATED IN THE
OWNER’S MANUAL MAY RESULT IN POSSIBLE SERIOUS INJURY OR DEATH.
KEEP CHILDREN AWAY. MAXIMUM USER WEIGHT 250 LBS.
REPLACE THIS LABEL IF DAMAGED, ILLEGIBLE OR REMOVED.

Accessory Box Fastener Pack
(1) Left Peddl (1) 3/8” x 1356mm Hex Bolt (2) Knob Cups
(1) Right Pedul (1) 3/8” Nylon Nut (2) M8 x 30mm Allen Bolts
(2) 3/8” x 70mm Curriuge Bolts (2) M8 Wushers
(2) 3/8” Acorn Nuts (1) M5 Allen Wrench
(4) M8 x 12mm Allen Bolts (1) Multi Hex Tool with Screwdriver
(2) 3/8" Curved Wushers (1) Wrench

(2) M8 x 50mm Assembly Knobs

SPECIFICATIONS & PARTS

Console
EDGE 284 /
Specifications:
Approximaute: Back Rest
Length: 45-1/4" Cushion
W 25

Height: 42-1/2"

Seat

Cushion Pulse

Product Weight: Sensor
Approx. 71 lbs.
Maximum User Weight:
Handlebar

250 lps.

Seat
Adjustment
Tube

Assembly Knob

Left Shroud
Rear

Foot Tube

Roller



INTRODUCTION

CONGRATULATIONS ON PURCHASING YOUR
MAGNETIC RECUMBENT BIKE

With this product in your home, you have everything you heed to start
your own workout program to tone and firm the mujor muscle groups of
your lower bodly. This is vital for dll of us, regurdless of uye, sex, or fithess
level, und regardless of whether your primary goudl is toning, hedlth
maintenunce, or more enerygy for daily activities.

Proper exercise, including a low fat diet, strength training and aerobic
exercise, fones und conditions the muscles we use every day to stand,
wdlk, lift and turn. It cun actudlly fransform our body composition by
reducing body fat and increusing the proportion of leun muscle in

our bodies. Using the Recumbent Bike will help in reducing body

fat and increusing cardiovasculdr endurance.

Be sure to read through this Owner’s Manual carefully.

It is the authoritative source of information about your Recumbent Bike.

Retain this manual for future reference.

COMMENTS OR QUESTIONS

Deur Customer,

Congyrutulutions on your purchuse of the
Edye 284 Muynetic Recumbent Bike.

We're sure that you will be completely sutisfied
with the product und we invite your comments
so that we cun heur ubout your success.

Pleuse write or cull our Customer Service Specidlists
at the address or phonhe humber listed below, or
contuct us by emuail or on our web site, with any
comments or yuestions you muy have,

Edge 284
Customer Service Department
1400 Raff Road SW, Canton OH 44750-0001

1-800-321-9236, Monday through Friday
9:00um to 5:00pm, Eustern Standard Time

Emdil: customersupport@fithessquest.com
www.fithessgyuest.com

Please do noft call the above number for Paris.
See Ordering Missing or Defective Parts section
fo the right.

All detdils depicted in this Owher’s Manhudl, and of the
product itself, dre subject fo change without hotice.

4

ORDERING MISSING OR
DEFECTIVE PARTS

When ordering parts, please contact our
Parts Department, toll free at 1-800-497-5831,
Monday through Friday, 9:00am to 5:00pm, EST.

IMPORTANT: You must have your seridl number
and this munual ready whehn cudlling for parts.

Seridl #:

Please also provide the following information:
1) Nume, Muiling Address und Telephone Number
2) Dute of Purchuse

3) Where Product wus Purchused
(Nume of Retuil Store, City)

4) Model Number (EXB00284)
5) Part Order Number and Description



ASSEMBLY INSTRUCTIONS

Occasionally our products contain components that are pre-lubricated at the factory. We recommend
that you protect flooring, or anything else the parts may contact, with newspaper or cloth.

IMPORTANT
PLEASE READ ALL INSTRUCTIONS CAREFULLY BEFORE ASSEMBLING.

Tools Required (included): NOTE: All location references, such as front, rear, left or right,
M5 Allen Wrench made in these instructions are from the user being
on the unit and facing forward.

Multi Hex Tool with Phillips Screwdriver
Wrench

STEP 1 - Rear Foot Tube Installation

Attach the two 3/8” x 70mm Curriuge Bolts,
3/8” Curved Wushers und 3/8” Acorh Nuts
to the Reur Foot Tube. washer

Note: Make sure indentations face down
on Rear Foot Tube.

foot tube

3/8”x 70mm
carriage bolt

Figure 1 - Instull Reur Foot Tube

right pedal
with strap

STEP 2 - Foot Pedal Installation

Threud Shufts of Peduls Right und Left into
Crunk und tighten with wrench.

Note: Pedals are marked Right and Left. Right
Pedal threads clockwise, Left Pedal threads
counter clockwise.

left pedal
with strap

Figure 2 - Instull Foot Peddls 5



NN back support
frame tube

‘/ seat adjustment
tube

3/8” x 135mm
hex bolt

Figure 3a - Instull Back Support Frame Tube

STEP 4 - Handlebar Installation

a) Attach Handlebar to Seat Adjustment
Tube under Seut with the two Assembly
Kholbs. Place Knob Caps onh threaded
end of Knobs.

Note: Do not pinch the wires.

b) Attuch Hundlebuar Pulse Wire to Lony
Extension Wire cominyg from the Frame.

STEP 3 - Back Support Frame
Tube Installation

a) Attach Back Support Frame Tube to Seat
Adjustment Tube with 3/8” x 135mm Hex
Bolt and 3/8” Nylon Nuft,

b) Lay bike on ifs side und uttach two M8 x 30mm
Allen Bolts und two M8 Wushers to the underside
of the bottom Seut Cushion.

seat
cushion

\ M8 washer
\

\ ®
\ > M8 x 30mm
\ allen bolts
M8 wosher

Figure 3b - Atftuch Bolts und Washers fo
the bottom of the Seut Cushion

seaf
adjustment

tube

Figure 4- Instull Hundlebar



STEP 5 - Console Tube

a) Connect the Short Pulse Extension Wire
to the Lonyg Pulse Extension Wire. Then
connect the (upper) Console Extension
Wire to the (lower) Console Extension Wire.

b) Slide Console Tube into Frume und uttach
with M8 x 12mm Allen Bolts.

Note: Do not pinch the wires.

M8x12mm%y’

allen bolt

console
extension

(upper) wire
console
exfzir:;lon short pulse
extension

wire

M8 x 12mm
phillips bolt

Figure 6 - Instull Console

(lower) console
extension wire \

console
tube

short pulse
extension wire

long pulse

(upper) console extension wire

extension wire nlfl
il

Figure 5 - Install Console Tube

STEP 6 - Console Installation

a) Remove the four M8 x 12mm Phillips Bolts
from the back of the Console.

b) Attach the (upper) Console Extension
Wire to the buck of the Console und the
Short Pulse Extension Wire to the Console
Extension Wire,

c) Aftuch the Console to the Console Tube
by using four M8 x 12mm Phillips Bolts you
removed.



STEP 7 - Battery Installation o

a) Remove Buttery Door from buck of Console,
and insert (4) “C” Batteries und repluce the
Buttery Door.

Note: DO NOT use rechargeable batteries,

- - - - '—|
doing so will cause a short circuit and
destroy the computer. battery
door
console

Figure 7 - Instdll Butteries

STEP 8 - Seat Adjustment

To udjust the seut, turn the Seut Adjustment Knob
counter clockwise, pull Knob down und slide into
one of the four positions. Muke sure Knob pojps
intfo pluce und tighten.

Note: It may be easier to adjust the seat
while standing beside your unit.

seat adjustment
knob

Figure 8 - Adjusting the Seut

Assembly is now complete.

IMPORTANT:
Please read page 9 before beginning your
workout for important instructions on how
to use your Recumbent Bike.




GETTING STARTED

Once your bike is ussembled, muke sure that your workout spuce hus d solid,
level surface with plenty of spuce uround it. We recommend plucing a mat
under your unit to protect your flooring.

Correct Workout Position

When peduling do not lock out your knees, ut the bottom of the peddling
motion there should be d slight bend in the knee. Keep your head in a heutrdl
position to minimize heck und upper buck strain. Always try to pedul the bike
with g smooth and rhythmic motion.,

USING YOUR RECUMBENT BIKE

The bike provides u completely smooth and naturadl feeling that
minimizes the impuct on your hips, knees und unkles while providing
U superior uerobic und muscle toning workout.

IMPORTANT:

e This unit is not recommended for children.

o Alwuys muke sure that you feel bulunced und secure.
e Always use your unit on u cleun, solid und level surfuce.

USING THE PULSE FUNCTION ON THE HANDLEBAR

The Pulse window on your computer works in conjunction with the pulse sensors found on the
handlebar. When you dre reudy to reud your pulse:

1) Place both hands firmly on the pulse sensors. For the most
accurate reading, it is important to use both hands.

2) Look ut your pulse window. The small heart will beygin to blink.

3) Your estimated heart rate will appedr in the window
upproximutely 6 seconds ufter you grusp the pulse sensors.

4) Refer to the Turget Heart Rute Zone Chart found on puyge 16
of this maunual. For additional information aubout the importance
of working within certain heart rate ranges, see puyes 14 and 15 -
Medasuring Your Heart Rate.

5) This estimate is not exauct and persons with medicul conditions
und/or u specific heed for uccurute heurt rate monitoring
should noft rely on the estimations provided.

Pulse
Sensors

=X

Pulse sensors, locuted on the handlebar endble the user to read his/her pulse rate. By grasping the
senhsors und holding firmly, the display will read your pulse rate in the display window. Your pulse will
continue to reud us lony us your hands stay on the pulse sensors.

When used properly, the heart rate pulse sensors and display monitor provide a reasonably
accurate estimate of your actual heart rate. This estimate is not exact and persons with
medical conditions and/or a specific need for accurate heart rate monitoring should

not rely on the estimations provided.



OPERATING THE COMPUTER

WARNING

Do not curry butteries loosely, such us
in a purse or pocket. The butteries may
explode or leuk und cuuse injury if
installed improperly, misused, disposed
of in u fire or rechuryged.

INTRODUCTION

This system is desighed for programmauble Mugnetic
Cycles. There are 3 mujor compohnents in the
system. The LCD Display Computer, The Motor
Controller and the Maghetic braking system. The
Computer displays 7 different functions: Time,
Speed, RPM, Distunce, Culories, Recovery and Heurt
Rute. All of these dre displayed simultuneously

oh individudl sections of the LCD screen. The
Computer dlso provides 6 different programs

und hus dutu input buttons.

USING YOUR COMPUTER

Press the Start/Stop button to furn on the Computer.
Select MANUAL, PROGRAM, or USER by pressing the
UP A or DOWN V¥ button.

DATA INPUT BUTTONS

1.UP A Selecting u proyrum or setting
increusing values of Resistunce
Level, Time, Culories und Distunce.

2. DOWN VY Selecting u proyrum or setting
decreusing vulues of Resistunce

Level, Time, Culories und Distunce.

In Start Mode, press the MODE
button to select Time, Distance,
and Resistance Level,

3. MODE

4. START/STOP To sturt or stop exercise, press

(ST/STOP) this button.

5. RESET To eruse the dutu values to 0.
The monitor will reset dll values
to 0 und returnh the Computer
to its stundby power on mode.

6. RECOVERY To find your personual fithess Pulse

Recovery Level.

10

/

PROGRAMS

eeeee

GETTING STARTED:
PROGRAM 1 - PROGRAM 6

See page 12 for Program Profiles.

Press the START/STOP button to turh the Computer
on. Press the UP A butfton until (Program) shows in the
window. Press MODE once to enter Program.

Press the UP A or DOWN V¥ button to choose the
exercise program you wunt, The program profiles will
be displayed on the LCD screen. When you have
completed the Program sefting, press the MODE
button. TIME will beygin blinking. Press the UP A or
DOWN V¥ button until you reach the desired time.

Press the MODE button. Distunce will beyin blinking.
Press the UP A or DOWN V¥ button until you reach
the desired distunce.

Press the MODE button. Culories will beyin blinking.
Press the UP A or DOWN V¥ button until you reach
the desired Culories.

Press the MODE button. Pulse will beyin blinking. Press
the UP A or DOWN V¥ button tfo the desired Pulse.

Press START button to beyin. To increuse or
decreuse your Exercise Program resistunce during
your workout, press the UP A or DOWN V¥ button.



USER PROGRAM

This program dllows you to program your own
individuul resistunce proyram. Select USER from
start up. Adjust the resistance levels by pressing

UP A or DOWN V. Press MODE to move to the hext
position until you have finished. Press START/STOP
button und beyin exercising.

NOTE:

If there is ho input sighal for over 4 minutes, the
system will enter Sleep Mode and dill displays
will furh off automatically. Simply re-starting your
workout or pressing uny button will result in the
LCD screen powering up again,

As an addifiondl power saving facility, if there is ho
Pulse input for more than 6 seconds, the Computer
will turn off the pulse circuit automuaticully. Pluce
hands oh Pulse Sensors properly to restart pulse
function.

FUNCTION DISPLAY VALUE

TIME 00:00-99:59 (COUNT UP)
99.59:00:00 (COUNT DOWN)

SPEED 0.00-99.9 MPH

DISTANCE 0.00-99.9 Miles

CALORIE 0.0-999.9-K.cul

PULSE RECOVERY (REC)

The Pulse Recovery is for personal orientation und
compures the upproximute pulse raute before und
after training. You will hotice that your fithess will
improve with regular exercise. This feature cun
help you on your wuy to u heulthier you.

The Pulse Recovery feuture is to be used directly

ufter your workout. To use this function:

1) Press the Pulse Recovery button.

2) Hold both hands on Pulse Sensors locuted
oh the Handlebuar.

3) The time will countdown from 60 to 0 seconds.
Note: If there is no pulse reading within
4 seconds reposition your hands on the
Pulse Sensors.

4) Your personul fithess Pulse Recovery level will
uppeur on the display (F1.0 - F6.0). When
countdown is complete, the Pulse Recovery
grade will be displayed.

Your ratings for Pulse Recovery are as follows:

F 1.0 = Excellent F 4.0 = Below Average
F 2.0 = Good F 5.0 = Not Good
F 3.0 = Fair F 6.0 = Poor

11



LCD Workout Graphics

PROGRAM 1
s | o | o o o o o |

]

]

]

|

1

]

]

I

|

1

I
| [
|| (R
{1 R
LT
1] (R

PROGRAM 5

I N | N | | N | | N | S N | S | ) | N | |
I N | N | | N | | N | S N | S | ) | N | |

PROGRAM 2
o o o o o | |

PROGRAM 4
o | | o o o o o |

PROGRAM 6

EN | | N | | S A | S | O | )| | | |
EN | | N | | S A | S | O | )| | | |
EN | N | A N | S A S | O | | | N | |
C I I 1E ) I I . -
C I I I . . .
C I I JC ] N . N I N N S S .
10 N I N N N N NN SN N N S N
1 ' ! 1 ! ! 1 | | [ | | | | | |

LCD DISPLAY UNIT

This system provides 6 different Exercise Programs. When you preset
the workout time, the system will divide the time by 16 regular
intervals, which will become your Exercise Time Segments. If you
do not preset your intended workout time, the system program

will count up the workout time in one-second increments.

12




IMPORTANT
Please review this section before you begin exercising.

IMPORTANT:

If you ure over 35 und huve been inuctive for
severdl yedrs, you should consult your physicidan,
who may or may hot recommend u graded
exercise test.
If you dre just beginning your exercise program,
your target heurt rate runge should be roughly ut
60% of your maximum heurt rate. As you become
more conditioned (or if you dre dlready in good
curdiovuscular shape) you cun increuse your
target heart rate to 70%-85% of your muximum
heurt rate. Remember, your turgyet heart rate is
only a yguide.
You should dlso consult your physician if you
have the following:

e High blood pressure

e High cholesterol

e Asthmu

e Heurt tfrouble

e Fumily history of eurly stroke or
heurt uttuck deuths

e Frequent dizzy spells
e Extreme bredthlessness ufter mild exertion
e Arthritis or other bone problems

e Severe muscular, ligument or
tendon problems

e Other known or suspected diseuse

e [f you experience uny puin or tightness
in your chest, un irregulur heurtbeut or
shorthess of breuth, stop exercising
immediutely. Consult your physician
before continuing.

e Pregnunt

e Bulunce Impuirment

e TJuking medicutions that affect heart rate

KNOWING THE BASICS

Physicdl fithess is most eusily understood by
exumining its components, or "purts”,

There is widespread agreement that these
five components comprise the basics of
physical training:

CARDIORESPIRATORY ENDURANCE - the ubility
to deliver oxygen und nutrients to tissues, und to
remove wustes, over sustuined periods of time.
Using your bike will improve this.

MUSCULAR STRENGTH - the ubility of a muscle to
exert force for u brief period of time. Upper-body
strength, for exumple, cun be meusured by various
weight-lifting exercises.

MUSCULAR ENDURANCE - the ubility of u

muscle, or U group of muscles, to sustuin repeuted
contractions or to continue dpplying force against
u fixed object. Push ups ure often used to test
enhdurance of urm and shoulder muscles.

FLEXIBILITY - the dbility fo move joints and use
muscles through their full range of motion. The
test is a yood meusure of flexibility of the lower
buck und bucks of the upper leys.

BODY COMPOSITION - often considered u
component of fithess. It refers to the mMukeup of
the body in terms of leun muss (Muscle, bone,
vitdl tissue und orguns) und fat muss. An optimal
ratio of fut to leun Muss is un indicution of fithess,
und the right types of exercises will help you
decreuse body fut und increuse or muintuin
muscle muss. To help track your progress we have
provided Workout Progress Churts on puge 20.

A COMPLETE EXERCISE PROGRAM

How often, how lony und how haurd you exercise,
und what kinds of exercises you do should be
determined by whaut you dre frying to accomplish.
Your gouls, your present fithess level, age, hedlth,
skills, inferest and convenience dre umony the
factors you should consider. For example, an
uthlete training for high-level competition would
follow u different program than g person whose
gouils ure good hedlth and the ability fo meet
work und recreutiondl heeds.

Your exercise progrum should include somethiny
from euch of the four busic fithess components

(continued on hext puye)

13



described previously. Each workout should beyin
with g warm up und end with a cool down. As
u yenerdl rule, spuce your workouts throughout
the week und uvoid consecutive duys of

hard exercise.

Here are the umounts of uctivity necessury for the
averuge hedlthy person to maintain a minimum
level of overdll fithess. Included dre some of the
populur exercises for euch cuteyory.

WARM UP - 5-10 minutes of exercise such us
wulking, slow jogying, knee lifts, arm circles or
tfrunk rotations. Low intensity movements that
simulute movements to be used in the activity
cun dlso be included in the warm up.

MUSCULAR STRENGTH - u minimum of two, 20
minute sessions per week that include exercises for
dll the mujor muscle groups. Lifting weights is the
most effective way to increuse strenyth.

MUSCULAR ENDURANCE - ut leust three, 30 minute
sessions euch week that include exercises such ds
culisthenics, push ups, sit ups, pull ups, und weight
fraining for all the mujor muscle groups.

CARDIORESPIRATORY ENDURANCE - uf leust
three, 20 minute workouts of continuous uerobic
exercise euch week. Working out on your bike is

U good wuy to obtdin this aerobic activity. Other
popular uerobic conditioning uctivities include brisk
wualking, joyying, swilmming, cycling, rope jumpiny,
rowiny, cross-country skiing, aund some continuous
action gyumes like racyuetbull and handbull.

FLEXIBILITY - 10-12 minutes of duily stretching
exercises performed slowly, without u bouncinyg
motion. This cun be included ufter u warm up or
during u cool down. Refer to puyes 17 und 18
for u list of totul body stretches.

COOL DOWN - g minimum of 5-10 minutes of
slow walking or lower intensity cycling exercise,
combined with stretching.

AEROBIC EXERCISE:
HOW MUCH? HOW OFTEN?

Experts recommend that you do some form of
uerobic exercise ut leust three times u week for u
minimum of 20 continuous Minutes. Of course, if
that is too much, start with a shorter time spun und
gradudlly build up to the minimum. Then gradudlly
progress until you are uble to work uerobicully for
20-40 minutes. If you want to lose weight, you may
waunt to do your uerobic workout five times u week.

It is importunt fo exercise ut un intensity vigorous
ehouyh to cuuse your heurt rute und breuthing to
increuse. How hard you should exercise depends to

14

u certuin deygree on your uge, und is determined
by meusuring your heurt rate in beuts per minute.
Refer to the "Meusuring Your Heurt Rute” section
below und on puye 15 for more informution on
how to determine und meusure your heurt rute,

You cun do different types of uerobic uctivities, say
walking one duy, and use your bike the next. Make
sure you choose un uctivity that can be done
regularly, and is enjoydble for you. The important
thing to remember is not to skip too Muny duys
between workouts or fithess benefits will be lost.

If you must lose u few duys, graduadlly work bauck
info your routine.

WHEN TO EXERCISE

The hour just before the evening medl is u populur
time for exercise. The lute affernoon workout
provides u welcome change of puce ut the

end of the work day und helps dissolve the day's
worries und tensions.

Another popular time to work out is eurly morninyg,
before the work duy beyins. Advocutes of the eurly
start say it maukes them more dlert und eneryetic
on the job.

Amony the factors you should consider in
developiny your workout schedule are persondl
preference, job aund family responsibilities,
avdilability of exercise fucilities and weduther. It's
important to schedule your workouts for u time
when there is litfle chance that you will have to
cuncel or interrupt them becuuse of other
demands on your fime.

You should hot exercise strenuously during
extremely hot, humid wedther or within two
hours ufter euting. Heut aund/or digestion both
mauke heuvy demunds on the circulutory system,
und in combinution with exercise cun be un
over-taxing double loud.

MEASURING YOUR HEART RATE
(see chart on page 16)

Heurt rate is widely accepted us u good method
for meusuring intensity during running, swimming,
cycling, and other uerobic uctivities. Exercise that
doesn't ruise your heart rate to u certdin level and
keep it there for 20 minutes won't contribute
sighificantly to cardiovascular fithess.

The heurt rute you should muintuin is culled your
Turget Heurt Rute. There ure severdl ways of drriving
at this figure. One of the simplest is: Muximum heart
rate (220 - uye) x 70%. Thus, the target heart rate for
u 40 yeur-old would be 126. In this example for this
40 year old to get u curdiovasculur effect the



individuul would heed to keep their heurt rate
at or ubove 126 beuts per minute to get u
curdiovusculur effect. Note: Although 70% wds

used in this example, the heurt rute runye needed

to uchieve results fulls between 60% und 85% of
your mauximum heurt rate,

If you are just beyinning your exercise progrum,
your target heart rate range should be roughly at
60% of your maximum heurt rate. As you become
more conditioned (or if you ure dlreudy in yood
curdiovascular shape) you cun incredse your
target heart rate to 70% - 85% of your maximum
heuart rate. Remember, your target heart rate is
only u guide.

When checking heart rate during u workout, tuke
your pulse within five seconds ufter interrupting
exercise becuuse it sturts to ygo dowh once you
stop Moving. Count pulse for 10 seconds und
multiply by six to gyet the per-minute rate.

Remember, your bike dlso comes with pulse
sensors locuted on the hundlebar.

When used properly, the unit pulse sensors
can help you to determine your estimated
heart rate. To do so:

a) Push the sturt buttfon on your computer.

b) Gently grab both metul pulse sensors on
both handleburs. Wait 6 seconds.

¢) Your estimuted heurt rate range will be
displuyed on screen. Check the chart on the
following puge to see if you dre within your
range uccording 1o your uge.

When used properly, the heart rate pulse
sensors and display monitor provide a
reasonably accurate estimate of your

actual heart rate. This estimate is not exact
and persons with medical conditions and/or
a specific need for accurate heart rate
monitoring should not rely on the
estimations provided.

By using the chart on puye 16 you cun see where
your heurt rate falls in the minimum und mMuximum
target zones.

The ubove ure guidelines, people with any
medicul limitations should discuss this formula
with their physiciun.

CLOTHING

All exercise clothing should be loose-fitting to
permit freedom of movement, und should muke
the weurer feel comfortuble and self-ussured.

Never weur rubberized or plustic clothing, such
gurments interfere with the evaporation of
perspiration und cun cuuse body temperuture
to rise to dunyerous levels.

We recommend weduring g workout shoe with a
rubberized sole unless instructed otherwise.

TIPS TO KEEP YOU GOING

D
2)

3)
4)

5)

6)

7)

8)

9

Adopt u specific plun und write it down.
Keep setting redlistic gyouls us you gyo ulony,
und remind yourself of them often.

Keep u loy to record your proygress und muke
sure to keep it up-to-dute. See puyes 20 - 21.

Include weight und/or percent body fat
Mmedusures in your loy. Extra pounds cun

eusily creep buck.

Upyrade your fithess progyram us you forogress.
Your bike provides 6 different workout programs
to keep your workouts chullenyging.

Enlist the support and compuny of your family
and friends.

Updute others on your successes.

Avoid injuries by pucing yourself und includiny
U wdrm up und cool down period us purt of
every workout. See puye 14,

Rewurd yourself periodicdlly for a job well donhe!

15



HEART RATE TARGET ZONE
FOR CARDIOVASCULAR FITNESS

TABLE 1
200
195
190
190
185
180 180
175
170 170
165 61 165
Heart 140 T 157 160
Rate \\\ 153 155
(Beats/ 148 150
. 150 <~
Min) ~_ 144 45
T~ 140 Maximum
140 - 140 Attainable
136 136 Heart Rate
133 | 131
129 | ~_
130 129 27,
129 85%
119 Target
120
115 119 Zone
112 408
110
105 1071
98 70%
100 Target
20 25 30 35 40 45 60 65 60 65 70 75 80 Zone
AGE (YRS)
TABLE 2
Exercise Warm Up THR% Cool Down Total Sessions Total Time
Week Period Minutes Period Time Per Wk. Per Wk.
1&2 5 min 60-65% -8 5 min 17 min 3 51 min
3&4 5 min 65-70% -10 5 min 20 min 3 60 min
5&6 5 min 70-75% -15 5 min 25 min 3 75 min
7 &8 5 min 70-80% -20 5 min 30 min 3 90 min
?2& 10 5 min 70-85% -25 5 min 35 min 3 105 min
11 & 12 5 min 70-85% -25 5 min 35 min 3 105 min

16



WARM UP & COOL DOWN STRETCHES

Stretches cun help improve flexibility and relieve the tighthess in muscles
that results from repetitive sport movements that require a limited range
of motion. 10 o 12 minutes of duily stretfching is recommended. This can
be dohe when warming up or cooling down. When performing these
stretches, your movements should be slow und smooth, with no bounciny
or jerking. Move into the stretch unfil you feel d slight tension, not puain, in
the muscle und hold the stretch for 20 to 30 seconds. Breuthe slowly and
rhythmicdally. Be sure not to hold your bredath. Remember that dll stretches
must be done for both sides of your body.

1. Quadriceps Stretch

Stund close to u wdll, chuir or other solid object. Use one

hand to ussist your balunce. Bend the opposite knee aund lift
your heel fowards your buttocks. Reuch buck und ygrusp the top
of your foot with the sume side hand. Keepiny your inner thighs
close toyether, slowly pull your foot towards your buttocks until
you feel u gentle stretch in the front of your thigh. You do not
have to touch your buttocks with your heel. Stop pulling when
you feel the stretch. Keep your kneecup pointing straight down
and keep your khees close together. (Do not let the lifted knee
swinyg outward.)

Hold the stretch for 20 to 30 seconds. Repeut for the other ley.

2. Calf and Achilles Stretch

Stand approximately one arms length away from a wall or chair
with your feet hip-width apaurt, Keepiny your toes pointed for-
ward, move onhe ley in close to the chuir while extending the
other ley behind you. Bendiny the ley closest to the chuir und
keepiny the other ley struight, place your hands on the chuir,
Keep the heel of the buck ley on the ground und move your
hips forward. Slowly lean forward from the ankle, keepiny your
buck ley straight until you feel u stretch in your calf muscles.

Hold for 20 to 30 seconds. Repeut for the opposite ley.

3. Overhead/Triceps Streich

Stund with your feet shoulder width apart and your knees slightly
bent. Lift one aurm overheud und bend your elbow, reuching
down behind your heud with your hand toward the opposite
shoulder blade. Walk your fingertips dowhn your back as far us
you cun. Hold this position. Reuch up with your opposite hund
and grusp your flexed elbow. Gently ussist the stretch by pulling
on the elbow.

Hold for 20 to 30 seconds. Repeut for the opposite arm.

17



18

4. Back Stretch

Staund with your legs shoulder lehygth apart and your knees
slightly bent. Bend forward from your wuaist with your arms
extending loosely in front of your body. Gently bend from
the wudist flexing your body as far forward as it will go.

Hold for 20 to 30 seconds. Struighten up und repedut,

5. Standing Hamstrings Stretch

Stand with your leys hip-width apart, Extend one leg out in
front of you und keep that foot flut aguinst the ground. With
your hands resting lightly on your thighs, bend your buck ley
und leun forward slightly from your hips until you feel u stretch
in the buck of your thigh. Be sure to leun forward from the hip
joint rather than bending at your wuist,

Hold for 20 to 30 seconds. Repeut for the opposite ley.

6. Buttocks, Hips and Abdominal Stretch

Lay flut on your buck with your hips reluxed aguinst the floor.
Bend one ley ut the knee. Keepiny both shoulders flut on the
floor, yently grasp the bent knee with your hands and pull it
over your body und towaurds the ground. You should feel u
stretch in your hips, ubdominauls aund lower buck.

Hold for 20 to 30 seconds und releuse. Repeut for opposite side.

7. Inner Thigh Stretch

Sit on the floor und bend your leys so that the soles of your feet
ure toyether. Pluce your elbows on your knees. Leun forward
from the wdist und press down lightly on the inside of your knees.
You should feel u stretch in the muscles of your inside thigh.

8. Arm Pullback

Stand with your feet shoulder width apart and toes pointing
forward and with your knees slightly bent. Let your arms hang
reluxed on either side of your body. Expund your chest aund pull
your shoulders back. Bend your elbows slightly and clasp your
hands behind your back. Slowly straighten your arms as you lift
your hands upward. Ruise your haunds upward until you feel
mild tension in your shoulder and chest region.

Hold for 20 to 30 seconds. Lower your urms to their origindl
position und bend your elbows. Reledse your hands and
return them to your sides.



CARE & STORAGE OF YOUR RECUMBENT BIKE

Care Directions

Your Bike hus been curefully designed to reguire minimum muintenance. However, we recommend
the followiny to keep your unit operating smoothly.

e Use your unit indoors only.

o Wipe dll perspiration from your bike with d soft, cleun cloth after euch use to prevent un
accumulation of sweut and dirt.

e Cleun your bike on u regulur busis o prevent u build-up of dust. Use Windex or un dlcohol
bused cledunser on d clean cloth. Do hot use any dbrusive cledners and/or polish us these
will dumugye the surfuce.

e Store your equipment in a dry area away from children and high fraffic arecs.
e Reyulurly check the tightness of huts und bolts.

Storing Directions

Your bike is portuble. If you heed to chunye the locution of your unit, pleuse follow the
steps below.

e Stand ut the rear of the bike and yrusp the rear handlebar.

o Liftf up using your leys — hot your buck, tipping the machine forward until it is resting
on the front tfransportation wheels/front rollers.

o Wheel the bike to its new locution und curefully lower the unit buck dowhn to the floor.

19



WORKOUT PROGRESS CHARTS

Use the charts below and ohn the following puyge to \/
keep track of your progress over time. Before writing
oh them, make as Many copies us you think you'll

heed. We sugyest you keep these in u hotebook. You Measuring Sites
will find it both informative und motivational to look Waist
buck at what you’'ve done, and this data will help you Abdomen
to chart future fithess gyouls us you proyress. Every two )
weeks, meusure yourself to rechart your proyress. Hips (
Thighs (L/R)
Date | Weight | Waist |Abdomen| Hips Thighs | Calves | Resting
Calves (L/R)
Date | Weight | Waist |Abdomen| Hips Thighs | Calves | Resting

20



EXERCISE DATA CHARTS

Upddate ohce u week

Week # Of Total Week # Of Total
(Date) Workouts Workout Time (Date) Workouts Workout Time

21



REPLACEMENT KITS

IDLER PULLEY KIT - EXB284-K1

KIT INCLUDES: 26 25
PART # DESCRIPTION QTy |@
20 M10 Large Washer 2 S
25 3/8” Nylon Nut 1
26 M10 Thin Washer 1
27 Idler Pulley with Bearing 1
72 Belt 1

72

CRANK KIT - EXB284-K2

KIT INCLUDES:
PART # DESCRIPTION QTY

22 Magnet 1
31 Crank with Pulley 1
32 Crank Washer 1
33 Notched Bearing Nut 1
34 Bearing 2
35 Bearing Cup 2
36 Spacer Ring 1
37 Slotted Bearing Nut 1
73 Crank Nut 1

HANDLEBAR KIT - EXB284-K3

KIT INCLUDES:

PART # DESCRIPTION QTY

8 Handlebar 1
10 Foam Grip 2
11 Round End Plug 2
16 Pulse Sensor 2
41 Handlebar Pulse Wire 2
68 M4 x 20mm Phillips Screw 2

22



REPLACEMENT PARTS

50
51

RIGHT SHROUD (48) LEFT SHROUD (49) SHORT PULSE EXTENSION WIRE (42)
M4 x 65mm PHILLIPS SCREW (5;) M5 x 125mm PHILLIPS BOLT (50) UPPER CONSOLE EXTENSION WIRE (43)
M5 x 15mmhf5”,'\l'-l'J"TP‘°§BSCREW (52) M4 x 65mm PHILLIPS SCREW (51) CONSOLE TUBE (47)
(53) M5 x 15mm PHILLIPS SCREW (52)
7
/ §
o
2 @ & EVA PAD (6)
5

4 ROLLER (40)

=—y>qA4
1
2
M8 x 50mm
j ASSEMBLY KNOB (9)

B, ‘
Ny
3 71— %\e~ 59
S

N

& 46
REAR FOOT TUBE (1) @ SMALL SQUARE END PLUG (57) M6 x 38mm PHILLIPS BOLT (56)
END CAP (2) LARGE SQUARE BACK SUPPORT FRAME (58) BACK CUSHION (61)
3/8” x 70mm CARRIAGE BOLT (3) END PLUG (12) 3/8” x 135mm HEX BOLT (59)
3/8” CURVED WASHER (4) 3/8” NYLON NUT (60)
3/8” ACORN NUT (5) M8 x 30mm FLAT ALLEN BOLT (46)

M8 WASHER (71)

SEAT ADJUSTMENT KNOB (63) SEAT CUSHION (62) LEFT PEDAL RIGHT PEDAL CONSOLE (44)
PLASTIC BUSHING (67) M6 x 15mm PHILLIPS W/STRAP (55)  W/STRAP (54) M8 x 12mm PHILLIPS BOLT (45)
SEAT ADJUSTMENT TUBE (65) BOLT (64)

23



SFitnessQuest

Dedication to Quality

We warrant this product to be free from all
defects in material and workmanship when used
according to the manufacturer’s instructions.
See Limited Warranty Card for details.

Save your sales receipt.
(You may wish to staple it into this manual.)

8/12/05





